A4821R / A2368 ECONOMICS: MICRO ECONOMICS

[Time: - 2 Hours]

Please check whether you have got the right question paper.

N.B: 1. All questions are compulsory.
2. Each question carries 15 marks.
3. Draw neat diagrams wherever necessary.

Discuss any two:-
a) The properties of consumers’ feasible set
b) Income effect
c) Choice under uncertainty

Discuss any two:-
a) The response of output to changes in scale of inputs.
b) C.E.S Production Function
c) Long run profit maximization

Explain any two:-
a) Walras’ Tatonnement Process.
b) Price and output determination under monopoly
c) Stability of long run equilibrium in a competitive market

Explain any two:-
a) Causes of market failure
b) Theory of Second Best
c) Measuring the welfare effects of price changes
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